
MSI-7000HD

Part Number/Price 
Item # Part # Description Price
1 178160 Overlay Consult
2 159137 Cable assembly, 7 to 36 VDC power Consult
3 178022 Enclosure Consult
4 178557 Cable assembly serial comm Consult
5 178491 Cable assembly serial comm Consult
6 174106 O-ring Consult
7 146553 Screw pan head 4-40 × 5/16 Phillips Consult
8 178172 Cover, standard Consult
9 153431 PCA ScaleCore3 4-channel Consult
10 142233 Screw, pan head, locking, 4-40 × 3/16, Phillips, stainless steel Consult
11 178140 PCA 7000HD dual modem Consult
12 144537 Screw, lkg pch ph 6-32 × 1/4, Phillips, stainless steel Consult
13 142554 Pin round acetal 0.312 diameter Consult
14 142229 Conn feed through liquid Consult
15 181774 O-ring neoprene 1/2 npt Consult
16 201823 Antenna 2.4 GHz patch cable Consult
17 143272 Washer seal #6 steel Consult
18 143271 Screw mach hex head Consult
19 158438 Plug diameter 0.750 with adhesive Consult

188 www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2025 Rice Lake Weighing Systems   1/25   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

REPLACEM
ENT PARTS



MSI-7000HD

7

9

10

11

12

13

14

3
16

17

18

161

CONNECT TO P6

SEE DETAIL A

2

19

SEE DETAIL B

6

8

4

5

15

BROWN

BLUE
BLACK

DETAIL A
COMM CABLE ASSY

DETAIL B

BLACK WIRE
WHITE WIRE

GREEN WIRE

WHITE WIRE w/
BLACK HEAT SHRINK

BLACK WIRE w/
RED HEAT SHRINK

FOR:
85-265 VAC

FOR:
7-36 VDC

9-36 VDC ISOLATED

MSI-7000HD

189www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2025 Rice Lake Weighing Systems   1/25   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

RE
PL

AC
EM

EN
T P

AR
TS


